normalized X?

>

2 4 6 8 10 12 14 16 18 20
X2

[ normalized x? probability |

0.07

0.06!

0.05

0.04

0.03]

FRvs) I
I
| i
! i ! ! ! !
'”HHH ’H\HHHHWH\ W
I I
0.05ll | I

0 10203040506070809 1
Prob(x2)

= DQM_TT__mkFit-DQM_old132
s DQM_TT__mkFit-DQM_new132
wmmm= DQM_TT__mkFit-DQM_newfast132

1.8

< X2/ ndf >

1.6

<op./p. > )

I
=

Ratio

Ratio

< X2/ ndf >

Ratio

101 1 10 102 pw3
T

<o pTIpT > (Yo)

107 1 10 102 p103
T

Ratio

< X2/ ndf >
P
00

0 2 3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

107 1072 107t
AR(track, jetg)



	Contents
	Page 1


